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AIPMT 2008 Examination Paper @9
Solutions ,
1. Which two of the following five physical parareet have the same di ons?
(a) energy density

(b) refractive index

(c) dielectric constant @

(d) Young's modulus

(e) magnetic field <®®

(1) (a) and (e) C §

(2) (b) and (d)

(3) (c) and (e)

(4) (a) and (d)

Sol. Answer (4)
Energy density and Young's modulus have s ioredSormula.

2. If the error in the measurement of radl ere is 2%, then the error in the
determination of volume of the sphere wi
(1) 2%
(2) 4%

(3) 6%
(4) 8% @Q
Sol. Answer (3)
aAv 3_~.Fa
¥ @

3. The dlstance travell@ a particle startrogn rest and moving with an acceleration

4
3 ™ in the third se{g@d is
sl &
(2)6m
3)4m

v 9D

—1Im
@ 3
Sol. er (4)
Spp = 4 3 (20 1)

AOparticIe moves in a straight line with a stamt acceleration. It changes its velocity
10 ms' to 20 m&" while passing through a distance 135 m in t secdhd value of



(1) 9 §
518 @
(4) 12

Sol. Answer (1)
Vi =7 V; =V,

7 &
9

1 .
or S=E[u+v}f

5. A particle shows distance-time curve as givethis figure.

Thexaaximum
instantaneous velocity of the particle is arourelgbint

: D %

- c @

%d

A B g
9,

&
(2)B @
3)C
<
Sol. Answer (3) @
Maximum slope is at C. @

6. A particle of mass m is proj with velgaitmaking an angle of #5with the
horizontal. When the particle | n the levelumd the magnitude of the change in its

momentum will be

(1) zero @
(2) 2 nv

(3) mv 2 @
(4) m‘-r'f».l"i &

Sol. Answer (4)
Momentum ¢

7. Sand is
keep the
(1) Zerg
(2) Mv n%bn
)2 wton

M
— newton

@ &

. Answer (2)

dropped on a conveyor belteatdte of M kg/s. The force necessary to
oving with a constant velocitywah/s will be



=y — =
Force = p = v

8. Three forces acting on a body are shown ifitjuee. To have the resultant for@
only along the y-direction, the magnitude of theimum additional force needed @

Y
AN % AN

B0° Q
>N @
N @Z
(1) 3N
(2) 0.5 N %
(3) 1.5 N @
3 N
o &’
Sol. Answer (2) @
Met force along x-axis zero.
Let the unknown force be F along x-axis i@

SF+1sin30°+ 2sin30° -4 sn30°=0
IF=08N @

9 Water falls from a height of 60 he raftd5 kg/s to operate a turbine. The
losses due to frictional forces ar@ 6 of enertpy much power is generated by the

turbine? (g = 10 mf

(1) 7.0 kw @
(2) 8.1 kW

(3) 10.2 kW @

(4) 12.3 kW

30

Sol. Answer (2) @&

P= uggH

10. A sheII o 200 gm is ejected from a gfumass 4 kg by an explosion that
generates 1. of energy. The initial velocftyhe shell is

® ié%@

(3) 80

4) 4@

l. Answer (2)
(0.2v )

the initial velocity of the shell be v, thenloeity of gun is ka (from



1 2 1,,.(02v)>

W Eox 02 = — (02w — 4 — = \ J
Now 1.05 x 10° = 2 (02) +2Ii}|k Z J v=100 mis
11. The ratio of the radii of gyration of a cil@udisc to that of a circular ring, eacﬁ of

same mass and radius, around their respectiveisaxes
(1) '\.'IIE . \.'IEI

(2) V3142 Q®>@
D

conservation of linar moment) @

(3) 1 J2

(4) V21
Sol. Answer (3) @b
lyse _ MR™I2 _ MKgse
Ling MR? MK fog
K::Ii5-: _ 1

T Ky, V2 %

ring
12. A thin rod of length L and mass M is benit oint into two halves so that the

angle between them is 90’he moment of inerti the bent rod about as passing
through the bending point and perpendicul ae defined by the two halves of the
rod is

2 MiL*
a 4

ML*
(2) 24

@©
q N
ML= @
<
@

3) 12
M
4) 6

Sol. Answer (3)
Distribution of masse out axis of rotation remaichanged whether it is straight or
bend.

- @@

13. Aroller er is designed such that riderserience "weightlessness" as they go
round the a hill whose radius of curvatw@0 m. The speed of the car at the top
of the hill | tween
(1) 13 n&g §nd 14 m/s
21 and 15 m/s

3)1 /and 16 m/s
(4) 16m/s and 17 m/s

. Answer (2)



%

| N
g = 9

For weightlessness, N =10 @iE

. omg = —

¥V o= .lllllg," 0
= 1020 ms™" = 14.14 ms™ Z
14.1f Q, E and W denote respectively the change in internal energy and the
work done in a closed cycle process, then
(1)Q=0

(2)W=0 @
RQ=W=0 @
(4 E=0 @

Sol. Answer (4) @

From the ¥ law of thermodyn@s,

Q=E+W g
For cyclic process, E=10, .. =0

15. On a new scale of @erature (which is inaad called the W scale, the freezing
and boiling points of waterare 3% and 239 W respectively. What will be the
temperature on the cale, corresponding tmpagature of 39C on the Celsius
scale?

(1) 139 W @
2) 78 W

3) 117 W
Gurw O

Sol. Afé (3)

39 — ¥ — 39
100 ~ 239 — 39
=11 w

. At 10C the value of the density of a fixed mass of aaidjas divided by its
essure is x. At 1£C this ratio is




283
(1) 383" @
@x G
383
(3) 28"
10
(@) 110

5
Q©
Sol. Answer (1) @

PV = nRT

P {D
[PJr T 10+ 273 283

T, T 110+273 T 383

i N -
G

@1:
21:
3)1:
4)1:

Sol. Answer (3) &
{a'nax :|1 _ {'ﬁ'ﬂ' @]E 1

(Bna )z~ w3A T o) = 102
18. The wa%zscribed ¥ =0.25sin(10 nx — 2 7). where x and y are in meters and t in
seconds, i e travelling along the

(1) -ve z ion with amplitude 0.25 m and warajth~= 0.2 m

(2) -ve ection with frequency 1 Hz
3)+ ection with frequenct Hz and wavelengt#= 0.2 m
4)+ direction with frequency 1 Hz and wavejr .= 0.2 m

. /Qnswer 4)



Give, y = 0.25 sin (10 nx — 2nf) <:>§
&

/ 3
Comparing with y = A sin 2_*'1 ¥ —2mnt | we get,
&

oA
A=02m gﬁif
n =1 Hz, —ve sign indicates, the x direction.
19. A point performs simple harmonic oscillatimiperiod T and the e of
motion is given by x = a sin(wt = /6). After the elapse of what fractio he time

period the velocity of the point will be equal talhof its maximum v

0
(1) 12 @
2) % %CQ

T
Q

@3 ?
Sol. Answer (1) @
Vv = ma cos (‘iﬂ!‘ + EI| @

. BJ

( 3
. ba cnams|2—nt+£|
) T8

r_Zm,¢

- 3 T 6 @%?
t= Y

-T2

20. Two points are Ioc@at a distance of Jdhch15 m from the source of oscillation.
The period of oscillati .05 sec and the wiyoaf the wave is 300 m/sec. What is
the phase difference een the oscillations ofgaints?

(1) E b@
(2) 32_n @
A

Sol. er (3)

%



2
Phase difference 4 = Tﬂ = path difference @

2r
T (15-10) [ =T =300 = 0.05m)

©
T 5
21. The velocity of electromagnetic radiatioraimedium of permlttlvnd
permeabilityiq is given by @

fﬁ
1) Veg @
2 1|IIliu %CQ
@ fisee @
(4) ote @

Sol. Answer (4) @
1
. R
4o S

22. Two periodic waves of intensitig ass through a region at the same time in
the same direction. The sum of the maximum andmum intensities is
(1) 2( + 1)
(2) L+ 1
@) W+l ) @
4) (V=12 @

Sol. Answer (1) @
e = iy + 41 | &
o= (5 - EF P

I+ )

max min

23. Two thn@ses of focal lengthsaihd § are in contact and coaxial. The power of
i

the combinati is
f1 +fz
2

1)



(@ﬁ%E <>

Sol. Answer (1)

1o1,1 @
fohf

fi+f
= T if Q
24. A boy is trying to start a fire by focusingriight on a piece of rusing an
equiconvex lens of focal length 10 cm. The diameféhe Sun |s )% 20n and its
mean distance from the earth is 1.5 *'10. What is the diame Sun's image on
the paper?

(1) 12.4 x 10 m

(2) 9.2 x 1§ m %
(3)6.5x10m N: :>
(4) 6.5 x 10 m ’

Sol. Answer (2)

I

.

_ 1.39x10% qug\

B G =92 =10 m
25. The energ @ ed to charge a paralleepiandenser of plate separation d and
e

plate area of cr ction A such that the unifeleutric field between the plates is E,

is
12:,E

3

22 %

(3) E W]
egE-Ad

. Answer (1)



1 1 5
Energy required = EGUE =3 egE“Ad @

26. A thin conducting ring of radius R is giveclarge +Q. The electric field at t@
centre O of the ring due to the charge on theAldRB of the ring is E. The electric fie
at the centre due to the charge on the part ACDBefing is

%
A N
O
0 S
03e s &
(3) E along OK
(4) E along KO @

Sol. Answer (3)
én =0

%
9
c ok 9
Eaws + Eacos =0 @
@

= Eacos = IE aka
=—E (along KO)
= E (along OK)
27. The electric potential at a p freecspdue to a charge Q coulomb is Q %'10

(1) 12re0 Qx 10% voltim

(2) 4meg Q107 volt/m

(3) 12760 Q% 10% voltim @
(4) Ameg Q1077 volt/m &

Sol. Answer (2)

1, &\
E= Em%; T = Q= 107« dme = 10" [from .__{i}]

= 4@ 102 voltim

28. Acell can be balanced against 110 cm anccf©6f potentiometer wire,
tively with and without being short circuitadough a resistance of £2). Its
nal resistance is
Zero



(3) 0.5 ohm
(4) 2.0 ohm

Sol. Answer (2) %
"ma 5 x y
Internal resistance = [ﬁ_ || =100 @

29. A wire of a certain material is stretchedadioby ten per cent. It n Sistance and
specific resistance become respectively 2

(2) 1.0 ohm @
©©

(1) 1.1 times, 1.1 times

(2) 1.2 times, 1.1 times
(3) 1.21 times, same @

(4) Both remain the same
Sol. Answer (3) @i
2 . 2

Re _(la)" (114} _y 29

Ry k"l' J \ h J O
R,=121R @

30. In the circuit shown, the current through sistor is 1 amp when the points P
and M are connected to a d.c. voltage sour, pal difference between the points
M and N is

40Q @
30 @
Fo— —!@
0510
..... ) o

0510
(1) 3.2 volt @
(2) 1.5 volt

(3) 1.0 volt @7

(4) 0.5 volt @

Sol. Answer

Potential di between Pand i =1 =4 =4 volt

i betvoonse e
Fotentjal between points Mand N= 3 555 =3.2V

31. AGE ectric kettle takes 4A current at 220w much time will it take to boil 1 kg
of water from temperature 20°C? The temperatut@oing water is 100°C.
4.2 min
.3 min
) 8.4 min



Sol. Answer (2)
Vit = mcas

1 4200 x 80 | @
= 220 =% 4 =381.8=5 =636 min

32. A current of 3 amp. flows through thi£2¥esistor shown in the circ ‘!' e power
dissipated in the £lresistor is

D
- ©@

1Q 50 %
(1) 5 watt 3

(2) 4 watt
(3) 2 watt

%
(4) 1 watt @@
@

(4) 12.6 min §
@
%

Sol. Answer (1)
Potential difference across 282 =6V @

B
Current through 5£2 = 5 1A

Power dissipated in 5Q = ({12 =5=W

magnetic field of inductiol & - A
QL4aT @
23T

@)2T @
4T

Sol. Answer (4)

Work done by
be samei.e. T

08 R
\ F;
closed loop PQRS carrying a current is placed imiform magnetic field. If the



magnetic forces on segments PS, SR and RQafe &1d  respectively and are in t
plane of the paper and along the directions shtwenforce on the segment QP is

D R-R+Fk @
QR-Rh-K 0
@) V(s —FF+F

(4) '-,'I[-':a - ]E - ":22

N
O
Sol. Answer (3) @Q
S)

y (R-F)
- E—
T P JE-RIAR %

Since net force on current carrying loop in unifarmag Id is zero therefore force
on remaining segment will be equal and oppsoifé. to

35. A circular disc of radius 0.2 meter is plaged unifofm magnetic field of induction
1fwb]

= m*Jin such a way that its axis makes an a@of 667 B .The magnetic flux

linked with the disc is
(1) 0.01 wb @

2) 0.02 wb
§3; 0.06 wb @)@)
4) 0.08 wb

Sol. Answer (2)
1 s
Magnetic flux = BA cose = T 7l 0 GELN

1 N

= 0.04 x==0.02 wh
2

36. A galvanometer @lstance Q)s connected to a battery of 3 V along with a
resistance of 2952} ies. A full scale deflection of 30 divisiolssobtained in the
galvanometer. | c@% reduce this deflectioBQalivisions, the resistance in series
should be b
(1) 445012

(2) 5050 ©2 @

(3) 5550¢2

(4) 60502
Sol. @%r (1)

%




ot Z@§§
30§ = m, F\"Q = 5002

— R = 44500

204, = %

R, +R @
37. Curie temperature is the temperature abovehwh

(1) Ferromagnetic material becomes diamagneticnaate @

(2) Ferromagnetic material becomes paramagnetiermaht

(3) Paramagnetic material becomes diamagnetic rakter @Q

(4) Paramagnetic material becomes ferromagnetienmaht

Sol. Answer (2) @
Above curie temperature domains break down, heamrerhagu stances become

paramagnetic.

38. A long solenoid has 500 turns. When a curoéta reds passed through it, the
resulting magnetic flux linked with each turn oétﬂole@4 Iwb. The self-
inductance of the solenoid is

(1) 4.0 henry %

(2) 2.5 henry @

(3) 2.0 henry @

(4) 1.0 henry

Sol. Answer (4) <§ 9

Ng = Li

500 =4 =102 =2L

L =1.0 henry @
39. In an a.c. circuit the e.m.f. @w theenir (i ) at any instant are given

respectively by

e =Eqsinot @
i =l sin{ot —§) @

The average power in t prcuit over one cycla.of is

e L

2 2

Since difference between current and e.m.fis d

> In the phenomenon of electric discharge thinogases at low pressure, the coloured
[ow in the tube appears as a result of




(2) Excitation of electrons in the atoms
(3) Collision between the atoms of the gas
(4) Collisions between the charged particles enhiftern the cathode and the atoms of

the gas @

Sol. Answer (2)

(1) Collision between different electrons of theras of the gas @

wavelength of the incident radiation for which #tepping potential

(1) X-ray region
(2) Ultraviolet region :

Due to excitation of electrons in atoms. i
41. The work function of a surface of a photogeresmaterial is 6.2 e
(é@/ es in the

(3) Visible region

(4) Infrared region %
Sol. Answer (2) @

), = [ 2| A= 1000 A @

= hence lies In ultravielet region.

42. A particle of mass 1 mg has t@me wavtiaamyan electron moving with a
velocity of 3 x 106 ms. The velogi

(1) 2.7 x 1¢* ms*

(2) 2.7 x 10® ms*

(3) 9 x 10 ms* @:
(4) 3 x 10** ms*
@

Sol. Answer (2)

he particle is (mass of electrofl.1 x 10* kg)

gnswer 4)
itation energy = £ E
-3.4 - (-13.6) = 10.2 eV



44. Two radioactive materials; Xdnd % have decay constant’ mnd*respectively. I@
initially they have th1e same number of nuclei, th@nratio of the number of nuclei@

to that of X will be e after a time
a

1) *
(2) A

N
O
3) j% @Q
S

%

Sol. Answer (4)
Ny e 1 N
Mo e e @

45
45, Two nuclei have their mass numbers in the@ The ratio of their nuclear
densities would be @
M1:1
21:3
(3)3:1 @
@) @3)°:1

Sol. Answer (1)

Density is independent of mass r of nuclei.

46. If M(A; Z), Mp and M, den masses of the nuc?X- proton and neutron
respectively in units of u (1u .5 MeV 7)@nd BE represents its bonding energy in

MeV, then @
(1) MiA, Z) = ZM +{A-2) 5

MA, Z) = ZM, + (A - BE / C?
(2)

M(A, Z) = ZwF + i, + BE
© ?);

MA, Z1 = z_-'.r{ /4 .'lf‘ — BE
@

Sol. Answe
BE =[ZM,, Z) M, - M(A, 2)]C?
47. TH ge gain of an amplifier with 9% rgafeedback is 10. The voltage gain
without%baek will be
(1) 100
(2) 90
) 1@
.25



Sol. Answer (1) ©§

,
.
I'-I
T
0
L
&

V;
and (v; —0.09vy) A =y, <®®
- A =100 %
48. If the lattice parameter for a crystallineisture is 3.¢2 the atomic radius in
fcc crystal is @
(1) 1.274
(2) 1.814 %
(3) 2.104
(4) 2.924

9
Sol. Answer (1) @@
e ; @
R G
Gy &
O
2 N
@
#R= ﬁ &
49. The circuit@@

NOR AND NOT

P

is equi t'to

1)0

2)A ate

(3) NAND gate
NOR gate

ol. Answer (4)



A
B
A
0
0
1
1

Hence NOR. gate %ﬁ
50. A p-n photodiode is made of a material withead gap of 2 )he minimum
frequency of the radiation that can be absorbethbynaterial i r

(1) 20 x 16* Hz

(2) 10 x (1}9“ Hz %

(3)5x 10" Hz

(4) 1 x 10" Hz @
%

Sol. Answer (3)

"= %=5xm” Hz @

51. If uncertainty in position and momenteai, then uncertainty in velocity is

'h

e @
1) j . @
o N
@ 12 D

i [

(4) min @
Sol. Answer (2) ((
AX = Ap

A b
W@ﬁ 2\x
g _ 1 [
FAY= om Vr

. If a gas expands at constant temperaturgjicates that



(2) Kinetic energy of molecules decreases
(3) Pressure of the gas increases
(4) Kinetic energy of molecules remains the same

(1) Number of the molecules of gas increases @

Kinetic energy of gaseous molecules depends ondeatyre only.
53. The value of equilibrium constant of the teac
HI(g) ——= %HE (@) + %5 is 8.0 :

The equilibrium constant of the reactiz (8 * |- (9) == 2Hl (g) W

%
Sol. Answer (4) @
O

1

O
(2) 16 %
3) é @

(4) 16 %

Sol. Answer (3)
1 1

—_— e - L=
HI == S Hy + 51Ky = 8.0

@@
@
or 2Hl == H, +1,.K,=64 @@
Ny

1
orH, +1, —‘“_ 2H, K, = 7
54. If 'a’ stands for the edge leng
cubic and face centred cubic,

respectively

(1) 1a: J2a:2a @
)2 4 22 @
1 J3a- L a

4 i
OENMENEINo
1 . w.'lg } \.'I'E@

Q



For simple cube, a = 2r @

_a

orr=3

_ %
FerBCC, 4r= Jag

orr=—a @
4 @ 7@
For FCC, 4r= 24 Q
orr= 2 @
1o AB 1 %
Thus, the ratio is @8- ——3a: a

2 4 2 @
55. Kohlrausch's law states that at

(2) Infinite dilution, each ion makes definite cobution taequivalent conductance of an
electrolyte, whatever be the nature of the othero ith
(2) Finite dilution, each ion makes definite congf 0 equivalent conductance of an
electrolyte, whatever be the nature of the othemibthe electrolyte

(3) Infinite dilution each ion makes definite @ ion to equivalent conductance of an
electrolyte depending on the nature of the i
(4) Infinite dilution, each ion makes defi
whatever be the nature of the other iolh_of thetedbde

Sol. Answer (1)
Kohlrausch's law states, "at infi@ilution lraan contributes its fixed value towards
equivalent conductance irres@ of the othelinccombination with it at fixed

temperature."

56. The measurement of. ectron positiossseated with an uncertainty in
momentum, which is eq 1 x g cm & The uncertainty in electron velocity is,
(mass of an electron i A0g)

(1) 1 x 121 cm Si’l
(2)1x10cms

(3)1 x 16 cm §* @
(4)1x 16 cm

2
Ap=1 Ijl IQ\\ s
or Ap =
or A»-@— %: 1= 10° em/second

M gx10°
. Wich of the following are not state funcs@n
+w

)q



() w
(IV) H-TS @
(1) (11) and (111 @

() (1) and (IV)

3) (1), (Illy and (IV) @0
(4) (), (I and (1)
Sol. Answer (1) i
AU =q+w
AG = AH - TAS
Al and AG are state functions but q and w are not state functions.
58. The bromination of acetone that occurs id goiution is @sted by this
equation
CH,COCH, (aq) + Br,(aq) — CH,COCH,Br(ag) + H* (aq) + Br- aq

These kinetic data were obtained for given reaatmmce
Initial concentrations, M

[CH,COCH,] [Bry] [H1] %
0.30 0.05 0.05 @
0.30 0.10 0.05 @

0.30 0.10 n.-

0.40 0.05 @
Initial rate, disappearance of Brz,@
57 x 107 @
5.7 = 107°
1.2 = 1074

3.1 % 1 @

Based on these data, the %?quation is

]

(1) Rate = k[ckgcocHg][
(2) Rate = k[CHCOCH; )
(3) Rate = k[CH = CQCH[Br]
(4) Rate = k[CHCO 3 ,][H *]?

compl ‘
(1) 10%
011
3)6L

54

. Answer (4)



CiHelg) + 50.lg) —3CO0,(g)+4H,0()
22.4L at STP S=224L a1 STF

w224 LCH atSTP = 5= 224 L of O, at STP

hx224
224

‘ELofDﬂat'\lTP

~ 1LC4H; at STP = of O, at STP

respectlvely Enthalpy of formatlon of HCl is
(1) 245 kdmot

(2) 93 kdmat'

(3) -245 kJmot

(4) -93 kdmot'

Sol. Answer (4)
2 [H]+ 2[Cl] —— 2HCL AH = — 862 kJ mol ™

H, — 2[H] AH =434 kJ @@
@
G

Cl, —— 2[CI], AH= 242 kJ

H, + Cly—s 2HCL AH = — 186 kJ @
~ AH, of HCI = 183’ = _93 kJ mol- @

61. Which of the followmg state@ts is not eatP
(1) The number of Bravais lat which a caystin be categorized is 14
(2) The fraction of the tota occupled bg #Htoms in a primitive cell is 0.48
(3) Molecular solids are g ly volatile
(4) The number of carbc@oms in an unit celliafrebnd is 4

Sol. Answer (4)
Diamond has ZnS

€ structure So, no. of atonasunit cell of diamond is 8.
Note : But optio also incorrect becausefthetion of the total volume occupied
by the atoms in .\' bic primitive cells is 0.524.

62. Equal v s of three acid solutions of p¥ @nd 5 are mixed in a vessel. What

will be the concentration in the mixture?
@11 @

(2 1.1 M

3) 3.

4) 3@

. inswer 3)



NV, + NoVy + NaVy = NV §
or 100 x1+10%=1410%=1=N_ =3 @

or 111 %x10%=N_x3

or N, =037 x 107
[H]=37 = 10% M

63. The values of § and K, for the reactions @

%

X=——%¥+Z ... (1) and

A==—=2B_.....(2)

are in ratio of 9:1. If degree of dissociation ofKd A be equal, t al pressure at
equilibrium (1) and (2) are in the ratio

11:1 @
A AN
4)36:1 @

Sol. Answer (4) %

X == ¥Y+Z ;. A = 2B

1 B 0 @

P.‘
—=35:1@2@
P

64. If th entration of Okbns in the reaction

Fer_oH}fé% Fe™ (ag) + 30H (aq)

conc@tion of B will increase by
(1) 4 times

841>mes
6 times
64 times

is decreased by — | o
4 times, then equilibrium



Sol. Answer (4) @

To maintain the constant value of, khe concentration of Egion will increase by 6@
times.

- %
65. For the gas phase reacti” ©'s (9} == PCl; (9] * Cl @)\which of the f@@y’ng

conditions is correct?
(1) AH > 0 and AS < 0

(2) AH=0and 45 <0

(3) AH > 0 and AS > D

(4)aH <Dand AS <0 @
Sol. Answer (3) @i§

This is an endothermic reaction,
So, AH=10 %
Since, number of mole in the product side is more @
So AS = 0. %
66. The rate constants &nd k for two different r jons are
107 . g7 Tand 10 - e'™Tragpectively. Th erature at whighekk, is
1000 K
(1) 2.303
(2) 1000 K
2000 |
(3) 2.303

Sol. Answer (1)
_2000
K,.=10"% 7

@@
G
(4) 2000 K @
©@
N

o logK, =16- 200 (@

£ 7 = d900 then K, = K,

67. dard free energies of formation (in kJyrab298 K are -237.2, -394.4 and -8.2
for H,O (1), CQ: (g) and pentane (g) respectively. The value%ffor the pentane-
ge@n fuel cell is
.0968 V
) 1.968 V



(3) 2.0968 V §
@
%

(4) 1.0968 V

Sol. Answer (4)

After calculation AG®, use the formula, AG* = —-nFE® §f
Here, n = 32 is taken because balanced equation is @

C.H,, + 80, — 5CO, + 6H,0

68. The dissociation equilibrium of a gas A®n be represented as Q
2AB; (g) == 2AB () * B, (9). The degree of dissociation is 'x' an @nal carag to
1. The expression relating the degree of dissaeigt) with equili constant Kand
total pressure P is

' ZF'K a AN
) Q

(@)

Sol. Answer (3)
28B, == 2AB+B,

1 a a

@@
@
©@
N

1-x X %2

Total mole at equi. = 1+% %©

\I

{1- N2 {Here x is degree of dissociation)
L éf@ )

or x:r_Fl|
on J
The sequence of ionic mobility in aqueousitsonh is
Na > K'>Rb" > Cs



(3) CS>Rb >K"'>Na
(4) Rb" > K">Cs > Na

(2) K* > Na > RU > C¢ ©§

Sol. Answer (3)
More the charge density of ion, more will be the-tpole interaction, so m
hydration of ion and hence less will be the ionihifity.

70. Percentage of free space in a body centrieid ouit cell is
(1) 28%
(2) 30% @

(3) 32%
(4) 34% @
Sol. Answer (3) %
32%
In BCC, packing fraction is 68%. @
71. The correct order of decreasing second itoisanthalpy of Ti (22), V (23), Cr

(24) and Mn (25) is %
Q) Ti>V>Cr>Mn @
(2)Cr>Mn >V >Ti @
B)V>Mn>Cr>Ti

@) Mn>Cr>Ti>V @

Sol. Answer (2) @)@)

Cr (24) — [Ar] 3d° 45
After removing one electron from chrotpium, the t8sg structure becomes more
stable. Hence Cr has higher sec nisation grytha
Thus, the correct order is
Cr>Mn>V>Ti

72. How many moles of lead (i) chloride will irmed from a reaction between 6.5 g
of PbO and 3.2 g of HCI?

(1) 0.029
(2) 0.044 @
(3)0.333

(4) 0.011

Sol. Answer (

PbO + 2HCI bCl, +H,0
Xl g T3g

Here, HE is'o@cess, hence, PbO is the limiting reactant.

- 224 g = 1 mole PbCl,
E.Ev@(} = Err1n::|IEt PbCl,
224
o
= 0.029 mole

. Which of the following complexes exhibits thighest paramagnetic behaviour?
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Where gly = glycine, en = ethylenediamine and bypyridyl moities). (At. number @
=22,V =23, Fe =26, Co=27)

(1) [Ti(NH3)e]** @
(2) [V (gly)2 (OH)(NHg)o]*

(3) [Fe(en)(bpy)(NH)2]*" 7
(4) [Co(OX),(OH)] ©>@
Sol. Answer (4)

74. Volume occupied by one molecule of water gitgr= 1 g cri?) is Q
(1)5.5x10°¢c @
(2) 9.0 x 167 (%ﬁn?
(3)6.023 x 10°¢ <:< D
(4) 3.0 x 173 cn? @

Sol. Answer (4)
| 9 O
Yolume of 1 moleculs of HED = 5022105

<1gice
%

=30x10%¢cm? @

75. Number of moles of MnOrequired to oxid@ne mole of ferrous oxalate

completely in acidic medium will be

(1) 0.2 moles @
(2) 0.6 moles @
(3) 0.4 moles

(4) 7.5 moles @

Sol. Answer (2) @
FeC.0, — s Fe™ + 2C0,+327]

MnO,~ + 8H ™+ 52~ — Mn? %3
5FeC,0, +3Mn0O,~ + 24HY 5Fe™ +10C0O, + 3Mn™ +12H,0
5 mol FeC -0, =3 mcﬂ\ﬁgﬂf
-~ Tmol FeC.0y :@r@f
6 mol MnO,

76. On thed of the following E° values, strengest oxidizing agent is
[Fe{CNjﬁI“- (CN)J*- + e, E*=-035V
Fal+ _y F%Z e1: E*=—-077V

3-
(1) [FE(ENy*
(2) [FE@N)]
() F

. The alkali metals from salt-like hydridesthg direct synthesis at elevated



S

temperature. The thermal stability of these hydridecreases in which of the foIIowi
orders?

(1) LiH > NaH > KH > RbH > CsH

(2) CsH > RbH > KH > NaH > LiH o

(3) KH > NaH > LiH > CsH > RbH g\é

(4) NaH > LiH > KH > RbH > CsH

trends indicated against it?

Sol. Answer (1) @
78. Which one of the following arrangements doetsgive the corre@ re of the

(1) R > CkL > Br, > |, : Electronegativity

(2) k> ClL > Br, > I, : Oxidizing power

(3) > CkL > Br, > I, : Electron gain enthalpy @
(4) > CL > Br, > I, : Bond dissociation energy %

Sol. Answer (4) {?
79. With which one of the following elements&iih should be doped so as to give p-

type of semiconductor? %
(1) Boron @

(2) Germanium

(3) Arsenic

(4) Selenium @
Sol. Answer (1) @

80. In which of the following coordi endéi the magnitude (A O (CFSE in
octahedral field) will be maximum (at>no. Co =27)

(1) [Co (GOa)g*
) [CO(FbO)Z]%+ @
(3) [CO(NHg)e]** @

(4) [Co(CN)J*

Sol. Answer (4)
oIecuIQ)(Q)nsists of
d

81. The angular sha
(1) 2 singma and 1
(2) 1 sigma and 2 i ds

(3) 2 sigma and@% onds
(4) 1 sigma a bond
Sol. Answ

82. The ct order of increasing bond angidke following triatomic species is
(1) NOZ C-":' < NOZ

NGANO,* < NO,
? NOSZ NO, < NO,-
== NO, < NO.*

(3) "Mz 2 2
NE+ < NO, < NO-



83. Four diatomic species are listed below tlfiferdint sequences. Which of thes
presents the correct order of their increasing boder?
1) He,* < 0,- < NO < C,>-

O, =< NQO < C,2 < He,*
@) 2

(3)NO < O < O < Hey @

Sol. Answer (3) @§

%
(4) sz_ = HEE" = NO < GZ_

Sol. Answer (1)
84. Equimolar solutions of the following were jpaeed in water @tely. Which one
of the solutions will record the highest pH? @

(1) CaCh
(2) SrCh %
(3) BaCh

(4) MgCl, @

%

Sol. Answer (3)

85. In the hydrocarbon
[:""-'__— C._’_' =CH— '::H:_ [;I =CH @

& 3 = 3 - '
The state of hybridization of carbons 1, 3 a@anhe following sequence
(1) P, SP. sp @
(2) P, sp, sp @
(3) sp, sp, s

(4) sp, B, sp @

Sol. Answer (3)

86. Green chemistry means reactions which
(1) Study the reactions in ptan
(2) Produce colour durin )‘Yv fions

(3) Reduce the use and uction of hazardousichEm
(4) Are related to the déptetion of ozone layer

Sol. Answer (3)
87. A strong % A abstract=uinydrogen from
(1) Alkane L)

@ 2:‘;?::@
4) Ke;p&

Sol. r(4)
88. many stereoisomers does the molecules”av
HsCGh = CHCHCHBICH;,

4



3)6 @
4)8 @©

Sol. Answer (2)
89. The stability of carbanions in the following

o o @
a. RC=C b. @ @

=] =]
c. R,C=CH d R;C=CH, ;:Q

is in the order of

a>c>b>d
(2 a>b>c>d
B)b>c>d>a @

(4)d>b>c>a %

Sol. Answer (2)
Higher is the electronegativity of atom higher viaé stability of carbanion on it. Higher

is the s-character, higher will be the electronegyg 0
=]

_ e & =]
R—C=C @ R,—C=CH FQC—CH:@

sp° (+ | effect)
90. The relative reactivities of acyl comgoumalsadrds nucleophilic substitution are in
the order of U

(1) Acyl chloride > Ester > Acid anh§@> Amide

%

(2) Acyl chloride > Acid anhydride er > Amide
(3) Ester > Acyl chloride > Amidz@ d anhydride

(4) Acid anhydride > Amide > E Acyl chloride

Sol. Answer (2)

Better is the leaving grou er will be the teaty of acyl compounds towards
nucleophilic acyl substit . Weaker is the bdmdter is the leaving group. Weaker

91. Base strength o

a. HClH, @
b. H,c=8H @
o)
I(Sl)matzgf% of

bases are derived fro& ger acids.

(2 b c
) c >a
()aic>b

. Answer (1)
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Stronger is the conjugate acid weaker will be gpoading conjugate base. Acidity 0@
conjugate acids of given carbanion:@<®<@ @

Thus order of basicity of given carbanions wil@ >®&>©

H,Cm=CH==CH=CH, + HBr — A %

92. CH;
A (predominantly) is

N
CHg=CH==CH=CH, Q©>
. 2

1) CH, Br

CH— -i;H— CH—CH,Br @
CH, @

I AN
zH 3—{I3—13H2C.H3 @
(3) CH,

CH— {IIH— cI:H—cH;, %
(4) Br CH, g 5

Sol. Answer (3)

(2)

Reaction is electrophilic addition which 2dti®tgh carbocation reaction
intermediate which undergo hydride shi
HE,
=CH. H,C CH—CH,
HEC—TH—CH GH;? 2
CH N

3 3
@ 2° carbocation
@ st step)
@ hydride
%)

Lo s
- Hac—f—CHz—CH3

CH, CH,
(3* carbocation more stable)
93. In DNA, omplimentary bases are

(1) Uracil enine; cytosine and guanine
(2) Adeni d thymine; guanine and cytosine
(3) Ade and thymine; guanine and uracil

4) A@ge and guanine; thymine and cytosine

Br

H,C—C—CH,—CH,




Cl

(1) @ %
) @,CHon @)@
R

NO,
©) @ OH @

@ ©@

Sol. Answer (4) %/
Hydroxy group is most activating group among giegtio ards electrophilic
attack.

94. Which one the following is most reactive tosgmelectrophilic attack? @

95. An organic compound contains carbon, hydro gen. Its elemental analysis
gave C, 38.71% and H, 9.67%. The empirical fo e compound would be

(1) CHO @

(2) CHO

(3) CHO @

(4) CHO @

Sol. Answer (2)

Element Percentage %@tio Simple maolar rati0

C 38.71 22 1

H 967 @ 9.67 3

] 5162 @ 322 1
96. In a {2 substitution r ion of the type

R—Br+Cl —2F .p_ ¢

-
Which one of the follo i@as the highest relatiae?
(1) CHsCH.Br

(2) CHs—CH,— CH
CH3—{|3H —c@

(3) CH, @
cnw—i&&
(4) (5@

Sol. Apswer (1)
Su2 reaction, there should be low steric hinderancdétter reactivity.
. Acetophenone when reacted with a bagds@Na, yields a stable compound which
s the structure?




NOINR®

OH IIC:IH

G_CH_H_@
@—CH—CH c—@

H3 r|:H3

- &
(4) OH OH @
Sol. Answer (2) %

It show condensation reaction @
O 0

[ CHO [ O
@—c—cm —_— C==CH.
—C,H.0H @

E_CH=?@ @!!_CHE_;@

@/NH: NaNQ,
HCI
x S

The structur would be
1) '@ .

*‘FN EH—N—@
) c
LH CH;

§\ =10



_ _CH, g§§>
“ @—NH—NH—@ NS, ©©

Sol. Answer (1) %
Diazotisation followed electrophillic substitutia para position. @

NaNO, ® &

] CH,
(== o
NCH,

99. Which of the following statements is not fue
(1) Natural rubber is a 1, 4 - polymer of isoprene %
e@ [

=

(2) In vulcanization, the formation of sulphur lges$ b fferent chains make
rubber harder and stronger

(3) Natural rubber has the trans-configurationvatrg double bond

(4) Buna-S is a copolymer of butadiene and styr@

Sol. Answer (3)

Natural rubber has cis-configuration at eac led.
Gutta-Percha has trans-configuration of Oloduhe
100. Which one of the following is an aking hone®d
(1) Progesterone @

(2) Thyroxine

3 oomn &
O

Sol. Answer (2)
Thyroxine-derived from typoSine amino acid.
Insulin - Polypeptide.
Progesterone - Steroi !@aone.
101. Select one of the following of importanttiegas distinguishing Gnetum from
Cycas and Pinus wing
affinities with angi rms
(1) Embryo dev ent and apical meristem
(2) Absence gfresinh duct and leaf venation

(3) Presen essel elements and absence egaria
4) Peria two integuments
( J; g

Sol. Answer 3)
Me of order Gnetales possess vessels andatisance of archegonia.
2.

10 ermococcus, Methanococcus and Methanahaatexemplify
Bétteria that contain a cytoskeleton and ribte®
rchaebacteria that contain protein homologousukaryotic core histones
Archaebacteria that lack any histones resemlthnse found in eukaryoties but




(4) Bacteria whose DNA is relaxed or positively sigoiled but which have a
cytoskeleton as well as mitochondria

whose DNA is negatively supercoiled @

Sol. Answer (3)
Archaebacteria have -ve supercoiled DNA but histcare chemically diffe
composition from eukaryotes.

103. Which one of the following is heterosporous?
(1) Equisetum %

(2) Dryopteris
(3) Salvinia
(4) Adiantum :

Sol. Answer (3) %
Others are homosporous pteridophytes.

104. In which one of the following male and feengh ""ﬂ@ ytes do not have free
living independent existence?

(1) Cedrus g
(2) Pteris @
(3) Funaria @

(4) Polytrichum

@

Sol. Answer (1)

Cedrus is gymnosperm having reduce ndent gphes as pollen and
endosperm.

105. Which one of the following gro of threenaals each is correctly matched with
their one characteristic morphologi eature?

Animals @ M or phological feature
(1)Cockroach, Locust, T Metameric segmentation
(2)Liver fluke, Sea an , Sea cucurajBelateral symmetry
(3)Centipede, Prawngea urchin Jointed appendages
(4)Scorpion, Spid kroach Ventral solid central nervous system

Sol. Answer (4)@
106. Which of the following phyla is corrgathatched with its two general
characteristi

(2) Mollu ormally oviparous and developmémbtgh a trochophore or

velige

(2) Arthropoda - Body divided into head, thorax atdiomen and respiration by tracheae
3) ata - Notochord at some stage and sepamatend urinary openings to the
outside

Echinodermata - Pentamerous radial symmetrynaostly internal fertilization

ol. Answer (1)



(1) Eggs with a calcareous shell

(2) Scales on their hind limbs

(3) Four-chambered heart o
(4) Two special chambers crop and gizzard in thigjestive tract @

107. Which one of the following in birds, indieattheir reptilian ancestry? @

Sol. Answer (2) @
108. Ascaris is characterized by

(1) Presence of true coclom and metamerism (metsatien) Q

(2) Absence of true coclom but presence of meteameri @

(3) Presence of neither true coclom nor metamerism

(4) Presence of true coclom but absence of metameri @

(1) Ventral nerve cord
(2) Closed circulatory system

(3) Segmentation ;: g

(4) Pseudocoelom

Sol. Answer (4) @

110. Cellulose is the major component of @é\@f
(1) Saccharomyces <§ 9
(2) Pythium @

(3) Xanthomonas

(4) Pseudomonas @
Sol. Answer (2) @

Pythium is a phycomycetes er having cellulosicwall.
Xanthomonas and Pseud are Eubacteria haaptig@gycan cell wall.
Saccharomyces - Chitino wall.

Sol. Answer (3) %
109. Which one of the following is not a charastée o% Annelida?

111. Vacuole in a plan
(1) Lacks membrane ntains water and excretdygtances
(2) Is membrane-bo nd contains storage proaeidsipids

(3) Is membrane- and contains water and exgretibstances

(4) Lacks mem nd contains air

Sol. Answer

It is havin last as membrane and stores \aatexcretory substances.
112. ? titive inhibitor of succinic dehydesse is

(1) Ma 4:%

(2) e

)0 acetate
4) = Dketoglutarate

. Answer (2)



113. Polysome is formed by
(1) Ribosomes attached to each other in a lineangement
(2) Several ribosomes attached to a single mRNA

(3) Many ribosomes attached to a strand of endoptaseticulum @0

Malonate competes with succinate for active sifesiocinate dehydrogenase. @

(4) A ribosome with several subunits

Sol. Answer (2)
This structure appears during protein synthestyiaplasm to translate
a polypeptide.

114. Carbohydrates are commonly found as starphant storage
following five properties of starch (a - €) makesieful as a storage-ma
a. Easily translocated

b. Chemical non-reactive %
c. Easily digested by animals

d. Osmotically inactive @

e. Synthesized during photosynthesis

The useful properties are %
(1) Botha &e @

rent parts of

(2) Bothb & c

(3)Bothb & d

4)a,c&e @
Sol. Answer (3) @

Starch is nonreducing and water ins @ so ifepred as storage material.

115. In the light of recent classification ofifig organisms into three domains of life
(bacteria, archaea and eukarya) one ofdl@fing statements is true about
archaea?

(1) Archaea completely differ prokaryotes

(2) Archaea resemble eulg& all respects

(3) Archaea have some n atures that are alvsether prokaryotes and eukaryotes
(4) Archaea completely @ from both prokaryosewl eukaryotes

forms with histones, no ofigad nucleus, membrane bound
and proteinous and noncellubastwohydrate nature of cell wall.

one lipid layer to the other (described asfftyp movement)?
(1) Neithe '.'!'3 }ds nor proteins can flip-flop

(2) Bot ids and proteins can flip-flop

3) Ipids can rarely flip-flop, proteins caot

4) proteins can flip-flop, lipids cannot

A?nswer 3)
exclusive property of lipids shown during dgang temperature of cellular



117. In germinating seeds fatty acids are degradelusively in the
(1) Mitochondria
(2) Proplastids
(3) Glyoxysomes
(4) Peroxisomes

N
Sol. Answer (3) Q©

It is regulated by glyoxylate cycle. %

environment. @S

%

118. The two sub-units of ribosome remain unéed critical ion le

(1) Calcium
(2) Copper <®®

(3) Manganese

(4) Magnesium %
Sol. Answer (4) @

Mangesium concentration is 0.0001 M.
119. Thron of Bougainvillea and tendril of cuctelare é?(ample of
(1) Retrogressive evolution

(2) Analogous organs @
(3) Homologous organs
(4) Vestigial organs @

Sol. Answer (3) @

120. Haploids are more suitable for. tion issithan the diploids. This is because
(1) All mutations, whether domina ecessive @xpressed in haploids
(2) Haploids are reproductively morestable thanadlls
(3) Mutagens penetrate in hapl ore effectitiedyn diploids
(4) Haploids are more abund nature than diplo

Sol. Answer (1) @

Haploids have only one @f chromosome henckeslle
121. Which one of t wing pairs of nitrogers bases of nucleic acids, is wrongly
matched with the cs%é y mentioned against it?

(1) Adenine, Th Purines

(2) Thymine, UrgeiksPyrimidines

(3) Uracil, Cyt - Pyrimidines

(4) Guanine, ine - Purines

Sol. Ans Q@

Adenin guanine are purines, whereas, Urdnylimine, Cytosine are pyrimidines.
12 iCh one of the following conditions in hans is correctly matched with its

chro mal abnormality/ linkage?

(1) Dewn syndrome - 44 autosomes + XO
linefelter syndrome - 44 autosomes + XXY
Colour blindness - Y-linked



(4) Erythroblastosis foetalis - X-linked

Sol. Answer (2)
Downs syndrome - 45 + XX or 45 + XY
123. In the DNA molecules

5I

(2) The total amount of purine nucleotides andmpidine nucleotides is
(3) There are two strands which run parallel inGt—3' direction

(4) The proportion of Adenine in relation to thyraivaries with the c@is

Sol. Answer (1)
The 2 strands of DNA are antiparallel one in 5'difection ano erin3 -5

(1) There is no change in population size as ttaae la fatge yene pool

(2) There is a decline in population as boys mgirg only from their own tribe

(3) Hereditary diseases like colour blindness dos adiin the isolated population

(4) Wrestlers who develop strong body muscles%‘)e time pass this character on to

their progeny @

Sol. Answer (2) @
The acquired character such as strong r@ewc&sﬂer obtained by regular exercise
will not be transmitted to the next gen . &pool of a population will consist of a

direction. %
124. What is true about the isolated small trﬂmiulatio

large number of genes which will varyin their fuegcies. These frequencies also
depend on proportion of various g es in tha wopulation. Small tribal population
will have small gene pool.

Hereditary diseases like colour ess will spren isolated population due to

inbreeding. @
There is a decline in population-&s boys marnsgirily from their own tribe, this is due
to absence of gene migra ene flow.

125. Which one of the @Ning scientist's naiieorrectly matched with the theory

put forth by him?
(1) Mendel - Theory of\Pangenesis
(2) Weismann - T of continuity of Germplasm

(3) Pasteur - In ce of acquired characters
(4) de Vries -

Followjn he right matching pairs.
de Vrieé?utation theory

Darwj eory of pangenesis and Natural selection
Past Discarded the theory of spontaneous goeof life and proved that life
ise§7from pre-existing life.
6. Which one of the following is incorrect abthe characteristics of protobionts
acervates and micropheres) as envisaged irbtbgemic origin of life?
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(1) They could maintain an internal environment @
(2) They were able to reproduce
(3) They could separate combinations of molecuias fthe surroundings @
%
Sol. Answer (2) @

(4) They were partially isolated from the surrourg$i
According to recent literature, coacervates andosghere do not reprod

127. Darwin's Finches are an excellent example of
(1) Connecting links %

(2) Adaptive radiation
(3) Seasonal migration
(4) Brood parasitism :

Sol. Answer (2)
Darwms Finches are examples of evolutlonary duva Ming/rise to new species,

organs mentioned against it?

(1) Wings of honey-bee and wings of crow - Ho A
(2) Thorn of Bougainvillea and tendrils of Cucya ,,;,}. nalogous organs

(3) Nictitating membrane and blind spot in agl ey estigial organs

(4) Nephridia of earthworm and malpighian\tublilesarkroach - Excretory organs

¢l

Sol. Answer (4)

Wings of honey bee and the wings of are amalsg
Thorn of Bougaivillea and tendrils of Sycurbita &emologous.
Blind spot in humans represent nt whereothtee nerve will leave the eye ball so

it is not vestigeal.
129. The fruit is chambered,@eloped from iofeovary and has seeds with succulent

testa in %
(1) Cucumber

(2) Pomegranate @
(3) Orange

(4) Guava

Sol. Answer (2)@@
This forms edi rt of pomegranate.

130. The @ s are phoptosynthetically more efficient tiamplants because
(1) They h ore chloroplasts
(2) They pensation point is more
(3) CO, generated during photorespiration is trapped angadted through PEP
carb e
@T Q efflux is not prevented

A?nswer (1)
plants do not show photorespiration and have rol@oplast in bundle sheath.



131. The chemiosmotic coupling hypothesis of attice phosphorylation proposes t
adenosine triphosphate (ATP) is formed because
(1) There is a change in the permeability of threemmitochondiral membrane tow
adenosine diphosphate (ADP)

(2) High energy bonds are formed in mitochondriakg@ns @0
(3) ADP is pumped out of the matrix into the intermbrane space
(4) A proton gradient forms across the inner memdéra @

Sol. Answer (4)
Proton motive force develop between perimitochaldpace and m@a ross inner
mitochondrial membrane.

132. Dry indehiscent single-seeded fruit formezhipellary sync
is

a s inferior ovary

(1) Cremocarp %
(2) Caryopsis

(3) Cypsela @
4) Berr

(4) Berry 0

Sol. Answer (3) @

Cypselae—Asteraceae.
Cremocarf—Shizocarpic fruit, as in umbellif

Caryopsis—Indehiscent fruit formed from arpellary angesuor ovary with basal
placentation.
133. The rupture and fractionation d suatlgur in the water column in

(1) Transpiration pull

(2) Lignified thick walls

(3) Cohesion and adhesion
(4) Weak gravitational puII

vessel/tracheids during the ascent o @ ecduse 0

Sol. Answer (3)
Continuity of water colu malntalned by cohesamd adhesion.
134. Senescence a tive developmentalarghiidcess in the growth and
functioning of a flow plant is indicated in
(1) Floral parts
(2) Vessels and id differentiation
(3) Leaf absci
(4) Annual pl

Sol. Ans )
Abscis rovides nutrient movement and rejuvenaif plant.
135 cular tissues in flowering plants devdtom
(1) Déetmatogen
(2) P@ellogen
lerome
eriblem



Sol. Answer (3) @©

Periblem—Ground tissue
Phelloger—Cork cambium
Dermatoger—Epidermis
136. In leaves of plants malic acid synthesis during £fixation occurs i
(1) Guard cells

(2) Epidermal cells
(3) Mesophyll cells Q
(4) Bundle sheath @

Sol. Answer (3)
Bundle sheath malic acid is transported from megltgh @
137. Importance of day length in flowering of miawas fi hown in

(1) Petunia
(2) Lemna @
(3) Tobacco

(4) Cotton @ %

Sol. Answer (3)

%

Discovered by Garnar & Allard in a marylan medniety of tobacco.
138. Endosperm is consumed by develo mioryloe seed of

(1) Maize @

(2) Coconut

(3) Castor @

(4) Pea @

Sol. Answer (4)
Other three are endospermic@minous seeds.

139. Nitrogen fixation in % ules of Alnisshrought about by
(1) Azorhizobium
(2) Bradyhizobium
(3) Clostridium
(4) Frankia
Sol. Answer (4)
Frankia is acti

(1) Gly is

2 F tation
P respiration

( )Ayobic respiration

. Answer (2)



Fermentation consumes NADRMNd éacceptor is released as NABot used. While @

glycolysis uses external acceptor as NAD

141. Replum is present in the ovary of flower of @
(1) Pea o
(2) Lemon @
(3) Mustard

(4) Sunflower @

Sol. Answer (3) Q

Mustard (Brassicaceae) possess false septum ig baging parietal @ ation.
142. The fleshy receptacle of syconus of fig ese$ a number o

(1) Mericarps

(2) Achenes @

(3) Samaras %

(4) Berries :

Sol. Answer (2)

Syconus is fruit type in fig which is composed ackéneal fruitlets.
143. Electrons from excited chlorophyll moleca tosystem Il are accepted first

by

(1) Ferredoxin @
(2) Cytochrome - b @
(3) Cytochrome - f @

(4) Quinone @

Sol. Answer (4)

Plastoquinone is used as mobile /er and prirakstron acceptor from PS II.
144. Which type of white bloo are concdmath the release of histamine and
the natural anticoagulant hep
(1) Monocytes %
(2) Neutrophils

(3) Basophils
(4) Eosinophils @

Sol. Answer (3)

Basophils have .~ b\;

heparin, histamine.and serotonin.

145. Which @of the following is the true désition about an animal concerned?

(1) Cockro 0 pairs of spiracles (2 pairshtmrdax and 8 pairs on abdomen)

(2) Ear, - The alimentary canal consists séquence of pharynx, oesophagus,
02: %pz

ction similar to mast cellsh8th basophils and mast cells contain

stoma zard and intestine
3) F ody divisible into three regions - headck and trunk
4R Left kidney is slightly higher in positidghan the right one

Answer (1)
at right kidney is sligtly higher than left kacse all the organs are concentrated



towards left, only in human beings left kidney igher. In earthworm the correct
sequence of alimentary canal is pharynx, oesophagemard, stomach and intesti
Frog, neck is absent.

146. Which one of the following is the correcttaleng of the site of action on the

given substrate, the enzyme acting upon it an@tioeproduct? @0
(1) Stomach : Fats __LUpa== . micelles

2) Duodenum : Triglycerides __Topsin_, monoglhycerides @

(3) Small intestine : Starch __®Amylase Disaccharide (Maltose) Q

(4) Small intestine : Proteins __F=es . Amino acids

Sol. Answer (3)

Pancreatic juice is released in intestine & corgtaiancreati = -g

Amylopsin, it digets 70% of the starch convertihgito Ma

dextrins. %
147. What is vital capacity of our lungs? @

(1) Total lungs capacity minus residual volume

(2) Inspiratory reserve volume plus tidal volume O

(3) Total lungs capacity minus expiratory reserg

(4) Inspiratory reserve volume plus expiratory ume

Sol. Answer (1) @
Vital capacity = TV + IRV + ERV
Total lung capacity = VC + RV

So we can say that VC = Total lung c@lty Redidolume.
148. Which one of the following |S® rredfelience between Rod Cells and Cone

Cells of our retina? %

Ro%ﬁ ConeCdlls
(1) Distribution ('\)/IO A centrated in CentlEvenly distributed all over retina
(2)Visual acuity 7 Low
Visual pigment . .
(3)Contained dopsin Rhodopsin
e . Colour vision and detailed vision
(4)Overall funct Vision in poor light in bright light

Sol. A {i%

Rod cel e more concentrated towards the peypiesual acuity is highest in fovea
centr@/hlch contains only cones. Visual pigmanbds cells is rhodopsin, whereas in
the con€ cells it is iodopsin.
49/Which one of the following items gives itsrect total number?
ervical vertebrae in humans - 8
Floating ribs in humans - 4



(4) Types of diabetes - 3

(3) Amino acids found in proteins - 16 @

Sol. Answer (2) o
In human beings floatings ribs are 2 pairs (4),1%' and 12 ribs. %
150. Given below is a diagrammatic cross sedatfamsingle loop of huma? C

Which one of the following options correctly repeats the na @-
parts?

(1) A : Perilymph, B : Tectorial membrane, C : Elyaph %
(2) B : Tectorial membrane, C : Perilymph, D : $tary.

(3) C : Endolymph, D : Sensory hair cells, A : Seru

(4) D : Sensory hair cells, A : Endolymph, B : Te@l membrane

Sol. Answer (1) @

In the diagram of human cochlea. @
A. represents - Perilymph @
B. represents - Tectorial membrane
C. represents - Endolymph @
D. represents - Sensory cells
151. Given below are four method ) andrtheodes of action (a - d) in
achieving contraception. Select théir.correct matgfrom the four options that follow

(A) The pill (a)Prevents S reaching cervix
(B) Condom | (bPreven plantation

(C)Vasectomy(c) Pre\% ulation

(D) Copper T (d)Se? ontains no sperms

Matching
(1) A-(b), B-(c ), D-(d)

(2) A~(c), B- (d), D-(b)
(3) A-(d), C-(b), D-(c)
(4) A-(¢)B-{d); C-(a), D-(b)

Sol. r(2)
Oral ceptraceptive pills contain estrogen and pstgyene hormones, so they alter the
ulatory cycle and mainly prevent ovulation. Comdoare physical barrier, they prevent
perms reaching cervix. Vasectomy is the sakgied terminal method of birth
trol in males. They do not prevent sperm pradacbut hinder sperm transport so the

M ethod M ode of ggl@



semen will not contain any sperms. IUDS e.g. Cofdpprevent fertilization and main@

implantation

152. What will happen if the secretion of pailietlls of gastric glands is bIockeo@
an inhibitor?
(1) Enterokinase will not be released from the dunadl mucosa and so tryps@ﬁas not
converted to trypsin
(2) Gastric juice will be deficient in chymosin
(3) Gastric juice will be deficient in pepsinogen
(4) In the absence of HCI secretion, inactive papgen is not conver @ the active
enzyme pepsin. @

Parietal cells/oxyntic cells, their function isdecrete HCI and le's intrinsic factor.
Pepsinogen, is converted into active pepsin by HElpy changein pH
153. During the propagation of a nerve impulse, etctlo§o ential results from the

Sol. Answer (4) ,@

movement of

(1) N& ions from extracellular fluid to intracellular fth
(2) Ka" ions from extracellular fluid to intracellular
(3) Na ions from intracellular fluid to extracellula

(4) Ka' ions from intracellular fluid to extracell

Sol. Answer (1)

When the threshold stimulus is applied, thie perntigabf the membrane for sodium

ions will change. Voltage gated sodiurmpdi hanoelsn and Naion flows form extra-
cellular fluid to intracellular fluid, the O@Ecomes negative and inside positive. The

membrane is depolarised & when 0 ends ofrtl@mbrane is connected to
oscilloscope a potential differen 30 mv]exhbs action potential is generated.
154. The blood calcium level i red by th&aiency of

(1) Calcitonin
(2) Parathormone %
(3) Thyroxine

(4) Both Calcitonin and thormone
Sol. Answer (2) &

155. The most adfi hagocytic white blood cafis
(1) Neutrophils nocytes

(2) Neutrophil eosinophils
3) Lymphoc@?nd macrophages

4) Eosinm@ nd lymphocytes
Sol. A (1)

Neut IS and monocytes have phagocytic function.
156 Edrthworms have no skeleton but during i, the anterior end becomes
t rgi%and acts as a hydraulic skeleton. It istdue
etae
Coelomic fluid



(3) Blood ©§

(4) Gut peristalsis @

Sol. Answer (2)

Setae help in attachment, but turgidity and hydecasKeleton is due to coelormi¢
157. In humans, blood passes from the post ¢avhk diastolic right atriunt o

due to

(1) Pressure difference between the post cavahandan

(2) Pushing open of the venous valves ;:Q

(3) Suction pull
(4) Stimulation of the sino auricular node

Sol. Answer (1)
Blood always flows from higher pressure towardsltiveer sure.
158. In humans, at the end of the first meiotisibn, the male’germ cells differentiate
into the
(1) Spermatozonia
(2) Primary spermatocytes %
(3) Secondary spermatocytes @

(4) Spermatids @
Sol. Answer (3) @

After the first meiotic division primary sp taey divide to form secondary
spermatocytes. Whereas, after secon igtic divisecondary spermatocytes will
divide to form spermatids.

159. Which one of the following i@iﬁtant t@gme action?
(1) Leaf cuticle
(2) Cork @
(3) Wood fibre

(4) Pollen exine @

Sol. Answer (4)

Pollen exine: It is formgd ef’sporopollenin which is resistamticrobial, physical and
chemical decompos'& Due to presence of spolamiol, pollens can be preserved for
longer period of tir@%ossil form. Sporopollengnformed after the oxidative

polymerisation @ tenoids.

160. The len different internodes in a calhsugarcane is variable because of
(1) Intercalar ristem
(2) Shoot meristem

(3) Posjtio axillary buds
4) Size%af lamina at the node below eachrimttde

Sol. er (1)

I tercgglary meristem : They are remains of apicatistemn between permanent tissues
internodes; responsible for primary growthhef plant.
1. Which one of the following pairs of plantusttures has haploid number of



(1) Egg nucleus and secondary nucleus
(2) Megaspore mother cell and antipodal cells
(3) Egg cell and antipodal cells

(4) Nucellus and antipodal cells @0

chromosomes? @

Sol. Answer (3) @
Egg cell and antipodal cells : They are part offdmale gametophyte.
162. What does the filiform apparatus do at thteaece into ovule? Q

(2) It guides pollen tube from a synergid to egg @

(2) It helps in the entry of pollen tube into a exgid

(3) It prevents entry of more than one pollen tutte the embry
(4) 1t brings about opening of the pollen tube

Sol. Answer (2)
It helps in the entry of pollen tube into synerglﬁliform@vatus is present at the
micropylar end in synergid. It is a mass of fintjlee projections. It releases certain
chemical substances which direct the path of pa ingide the synergid through
micropyle (chemotropic effect) %%

163. Unisexuality of flowers prevents @
(1) Autogamy and geitonogamy
(2) Autogamy, but not geitonogamy @

(3) Both geitonogamy and xenogamy <§ 9
(4) Geitonogamy, but not xenogamy @

Sol. Answer (2)
Autogamy but not geithogamy : uality promates$avours the cross pollination
(xenogamy) and prevent self pollifigtion (Autogan@gitnogamy involve transfer of
pollen grain between two flof the same p&antinisexuality will not prevent
geitnogamy. %ﬁ

164. Which extraembryag embrane in humansersvdesiccation of the embryo
inside the utrerus?
(1) Amnion
(2) Chorion
(3) Allantois

(4) Yolk sac b@

Sol. Answer @2
Amnion e amniotic fluid which prevents desson of embryo, that's why present

in all try vertebrates.
165. \/@ one of the following statements isoimect about menstruation?
QT ginning of the cycle of menstruationaded menarche
(2) DUting normal menstruation about 40 ml blootb&
€)) T@e menstrual fluid can easily clot
t menopause in the female, there is especditypt increase in gonadotropic
mones



Sol. Answer (3) @

Menopause is a senile change in ovaries. After amge the level of pituitary @
gonadotropins remain same or slightly increase. ESHore than LH; but the ovaries are
not responding to these hormone, because all theaovfollicles are converted into

follicular atresia. There is decline in the levepoogesterone and estrogen ly the
blood inside the uterus clots, but it is liqguefledthe enzyme plasmin rel by uterus.
Menstrual fluid which is discharged cannot clotiaga

166. The haemoglobin of a human foetus Q
(1) Has a higher affinity for oxygen than that afadult @

(3) Its affinity for oxygen is the same as thatnfadult
(4) Has only 2 protein subunits instead of 4

Sol. Answer (1) %

The haemoglobin of human foetus (HbF) has 4 Hero 1 globin. In HbF the
globin protein is made up o =and & polypeptide chains:Eaczhas 141 amino acids
and eact8-has 146 amino acids but 37 amino acigds in‘@zgk different from that of
HbA. It has higher affinity for @even at low P@ar‘@ oxygen -Hb dissociation curve
remains towards the left of normal.

(2) Has a lower affinity for oxygen than that oétadult @

167. Consider the statements given below, Intraception and answer as
directed thereafter
(a) Medical Termination of Pregnancy ( duriivgtftrimester is generally safe
(b) Generally chances of conception notmer breast-feeds the infant upto two
years

(c) Intrauterine devices like copper=T effeetbontraceptives
(d) Contraception pills may be tgkentipto one wadedr coitus to prevent conception
“1 ? re correct?

Which two of the above state

QD ab
(2) b, ¢ @
3)c,d
4)a, c @
Sol. Answer (4) &
During intense lac al period the chances ateption are almost nil, maximum
upto six month ot two years.
After unwante al intercourse, conception @avwided by taking contraceptive
pills within 7
168. In h adult females oxytocin
(1) Cayse ong uterine contractions during padn
(2) Is secreted by anterior pituitary
3)S tes growth of mammary glands

(4) Stimulates pituitary to secrete vasopressin

%
Answer (1)
ytocin is called as Birth Hormone as it causesdbntraction of smooth muscles of the



uterus leading to the birth of the child.
169. Which one of the following is the correctqgantage of the two (out of the to

4) green house gases that contribute to the ttbabwarming?

(1) Methane 20%, PO 18%

(2) CFCs14%, Methane 20%

(3) CO, 40%, CFSs 30%

(4) N,O 6%, CQ 86%

N
O
Sol. Answer (2) @Q

%

CFC 14%, methane 20% : For €iDis 60% and for PO it is 6%
170. Quercus species are the dominant compoment i @

(1) Tropical rain forests
(2) Temperate deciduous forests

(3) Alpine forests %
(4) Scrub forests :
Sol. Answer (2)

Temperate deciduous forest %
Tropical rain forest - Dipterocarpus, Hopea

Scrub forest - Oak, Eucalyptus @

Alpine forest - Rhododendron, Juniperus @
in

171. About 70% of total global carbon is f
(1) Forests @
(2) Grasslands
(3) Agroecosystems

(4) Oceans ®©

Sol. Answer (4)
Oceans : For the C, cycling ponsists of 6 ¥ kg (29%) of free CQin the
atmosphere and 1.45 xlf 0) dissolved C£n hydrosphere.
172. Which one of the foltowing is not observadiodiversity hotspots?
(1) Species richness
(2) Endemism
(3) Accelerated speci SS

(4) Lesser inter-sp competition

Sol. Answer (
Lesser inter-g?ﬁc competition : Due to the pre of high species diversity the inter
specific co ilon will be more enhanced.
173. W &mmit on Sustainable Development 220@as held in
(1) Sou@rica
(2) Brazi
) S en
4) Aggentina

. Answer (1)



174. The slow rate of decomposition of fallendag nature is due to their
(1) Low cellulose content
(2) Low moisture content

It was held in South Africa (Johnnesberg) @

(3) Poor nitrogen content @0
(4) Anaerobic environment around them
Sol. Answer (2) @
Low moisture content will lead to decrease in nundjelecomposers use
decomposers require an optimum moisture for thejpgr growth an ctioning.
175. Consider the following statements concerifiogl chains
(a) Removal of 80% tigers from an area resultegr@atly incre wth of vegetation
(b) Removal of most of the carnivores resultednnrnereased lation of deers
(c) The length of food chains is generally limited3-4 tro els due to energy loss

Which two of the above statements are correct?
@ ab

(2) b, c %
3)c,d @
(4) a, d @

Sol. Answer (2) @

Removal of tigers from an area will lead @. @age in number of herbivores and
hence there will be decreased growth etatidhat particular area. The number of
trophic levels in a food chain does n h Benathere are 3 or 4 trophic levels.

176. According to Central Polluti ntrol Bog@PCB), which particulate size in
diameter (in micrometers) of
the air pollutants is responsible @reatest herimuman health?

(1)5.2-25
(2) 2.5 or less % @
(3)1.50rless @

(4) 1.0 or less

(d) The length of food chains may vary from 2 twdphic ,ie 4

Sol. Answer (2)
This is the report o{.""\-y tral Pollution Control Boa

177. The table .,*.
areas (a-d)co |ng of the number of habgatsn within brackets against each.

Study the tahleand answer the question whichvallo
Area and Q Species, and their pepulations {in thousands)
Mumbed af in the areas
habita A B[ c o JE]JF] G| H HIE
a((np] 23 |12 [os2feo| - [21] 11| 90| - |0z

%



{13} M3|og |04 24 | 14 | 4 pa | a4 | 22| 41

[

h{11) mz2| - |oe2| - 15 | 30| - g2 | 1.1 1112 @

{12} 3z (w2 1| 48 |04 33 o8] 73| 11.3] 21 O

Which area out of a to d shows maximum speciegsiiy@

N
oF O
R

3)c

4)d @

Sol. Answer (4)
In areas 'c' and 'd' all the 10 species are présgmumber of h 1S lesser in area d.

178. A lake near a village suffered heavy mastaif fishes-wi a few days. Consider
the following reasons for this
(a) Lots of urea and phosphate fertilizer were usebe.cy in the vicinity
(b) The area was sprayed with DDT by an aircraft @
(c) The lake water turned green and stinky
(d) Phytoplankton populations in the lake decli

t%ereby greatly reducing

photosynthesis

Which two of the above were the main cause@shtality in the lake?
1) a,b @

(2)b,c

3)c,d @

4)a,c @

Sol. Answer (4)
Lots of urea and phosphate ferti used ingioghe vicinity of lake will lead to
eutrophication that means the ill turn greed stinky.

179. Consider the followin statements & about certain desert animals such as
kangaroo rat. @
(a) They have dark coloursand high rate of reprddoand excrete solid urine
(b) They do not drink breathe at a slow tateonserve water and have their body
covered with thick hai

(c) They feed on dpyseeds and do not require ohgwater

concentrated urine and dausetwater to regulate body

(d) They excret
temperature @
Which two of ove statements for such aniraagrue?

()aandb

(2) cand @
(3) b aff}

(4)cae g:;
Sol. er (2)

Kangaroo rat is the only mammal which does notshgay water and reamains only on
bolic water which it can utilize due to nasalmter current mechanism. It feeds on
castor seeds. Sweat glands are absent andesecneentrated urine with nitrogenous



waste as urea. @
180. A transgeneic food crop which may help iwisg the problem of night blindpess

in developing countries is U

(1) Golden rice o

(2) Flavr Savr tomatoes @
(3) Starlink maize
(4) Bt Soybean @

Sol. Answer (1) Q
Golden rice is transgenic rice in which the gemesynthesis of enz@ imvolvedfn
carotene formation are transferred. So goldenisicieh in vitamin venting night
blindness.
181. Bacterial leaf blight of rice is caused kgpacies of @
(1) Erwinia
(2) Xanthomonas
(3) Pseudomonas @
(4) Alternaria 0

Sol. Answer (2) @

Xanthomonas oryzae.

182. Which one of the following is linked t very of Bordeaux mixture as a
popular fungicide?
(1) Black rust of wheat @
(2) Bacterial leaf blight of rice
(3) Downy mildew of grapes @

(4) Loose smut of wheat @
Sol. Answer (3) @
It was discovered by Profegs@ ardet of Bordehuniversity of France.

183. Which one of the follewing’is being triedindia as a biofuel substitute for fossil
fuels?

(1) Aegilops
(2) Jatropha @

(3) Azadirachta

(4) Musa @
Sol. Answer ( @
It is a petropl nd the source of fuel is latex.
184. Tric a harzianum has proved a usefoiaorganism for

(1) Bioleg ontrol of soi-borne plant pathogens
(2) Bioré%diation of contaminated soils

3) ation of wastelands

4G transfer in higher plants

%
Answer (1)
ecretes chitinase enzyme which is responsdslaritifungal activities.



185. Gel electrophoresis is used for
(1) Isolation of DNA molecule
(2) Cutting of DNA into fragments
(3) Separation of DNA fragments according to tiseie
(4) Construction of recombinant DNA by joining wittoning vectors

Sol. Answer (3)
After the action of restriction endonuclease tlagifnents of DNA so fo
separated by gel electrophoresis. This technigbassd upon the pri
of molecules on the basis of charge and mass.

186. To which type of barriers under innate imityrdo the sali@ e mouth and

the tears from the eyes, belong?
(1) Physical barriers @
(2) Cytokine barriers %
(3) Cellular barriers
(4) Physiological barriers @
Sol. Answer (4) %
Acid in stomach, saliva in mouth, tears from eylé nt microbial growth. They are
part of innate immunity and grouped under physi arriers.
187. Match the disease in Column | with t Bde items

(pathogen/prevention/treatment) in Colum

Column | Column 11 @

(a)Amoebiasigi) Treponema palladiu
(b)Diphtheria | (ii) Use only sterilj ood and water

(c)Cholera | (iii)DPT Vaccin
(d)Syphilis | (iv)Use oval r @ation therapy

(1) a-(ii), b-(iii), c-(iv), d-(
(2) a-(i), b-(ii), c~(iii), g@@

(3) a-(ii), b-(iv), c-(i), d-(ii)

(4) a-(ii), b-(i), c-(ii@g )
Sol. Answer (1)@

188. Consi e following statements about leidical technologies
(a) During eart surgery blood is circulatethe heart-lung machine
(b) Blocgk i’ coronary arteries is removed byi@gphy
(c) Co erised Axial Tomography (CAT) shows dethinternal structure as seen in a

secti ody
(d) X@farovides clear and detailed images oansgjike prostate glands and lungs
Whic% wo of the above statements are correct?
aandb
andd
)candd



(4)aandc §

Sol. Answer (4) @

Angioplasty not angiography is unblocking of blodkateries. Radiograph producgd by
x-rays is just a shadow of the dense body parts.

189. Which one of the following pairs of codoasorrectly matched with thHe {inction
or the signal for the particular amino acid? @
(1) UUA, UCA - Leucine
(2) GUU, GCU - Alanine Q
(3) UAG, UGA - Stop @
(4) AUG, ACG - Start / Methionine @

Sol. Answer (3)
UAA, UAG and UGA are nonsense or terminating opst(% s these are

responsible for the termination of translation.

190. Which one of the following is the correcatemer%@rding the particular
psychotropic drug specified?
(1) Barbiturates cause relation and temporary etigho %

(3) Opium stimulates nervous system and ca G
(4) Morphine leads to delusions and disturbge

Sol. Answer (2)
Morphine is both a sedative as well a gtéessig.(ﬂarbiturates are sedatives and have
hypnotic effect. Opium is also a nar @rug wWhinas a depressing effect on CNS.

191. Cry 1 endotoxins obtained fr, acillus Thgiensis are effective against
(1) Boll worms
(2) Mosquitoes @
(3) Flies @
(4) Nematodes

Sol. Answer (1)

Proteins encoded by ttie genes cry | Ac and cryblcéntrol cotton bolloworm.
192. Modern deterg% contain enzyme prepasatbn

(1) Thermophile (s'

(2) Acidophiles

(3) Alkaliphile

4) Thermoa@hiles

Sol. Ans )
Enzym ed in detergents are proteases anddjpelsieh are obtained from fungi.
Fungi s properly in acidic medium.
1937 ®e linking of antibiotic resistance gen#éwihe plasmid vector became possible
ith O

xonucleases
NA ligase



(3) Endouncleases @
(4) DNA polymerase @
Sol. Answer (2) o
Restriction endonucleases act as molecular scigsar©NA ligases help in Ig@
foreign DNA to plasmid.

194. Which one of the following proved effectiioe biological control of todal
disease in plants?
(1) Paecilomyces lilacinus @Q

(2) Pisolithus tinctorius
(3) Pseudomonas cepacia
(4) Gliocladium virens :

Sol. Answer (3) %
195. Main objective of production/use of herb&r@sist crops is to
(1) Reduce herbicide accumulation in food artiédrrshe%@fety

(2) Eliminate weeds from the field without the wdenanuahMabour

(3) eliminate weeds from the field without the o rbicides

(4) Encourage eco-friendly herbicides

Sol. Answer (2) é?

As herbicide resistant GM crops will remair@ﬂ&ﬂo the herbicide used, while the
weeds will get killed.
196. Consider the following four me (athd) could be taken to successfully
grow chick-pea in an area where ba @ blighedse is common
(a) Spray with Bordeaux mixture
(b) Control of the insect vector o seasépgeén
(c) Use of only disease-free see
(d) Use of varieties resistant @ disease
Which two of the above measures can control theadis?
(1) (a) and (d)
(2) (b) and (c) @
(3) (a) and (b)
(4) (c) and (d)

Sol. Answer (4) @

Bordeaux is u control fungal diseases andsext vector is reported for bacterial
blight diseas us use of disease free seeddiseake resistant varieties can control
disease.

197. insulin is being commercially produtredn a transgenic species of
(1) Sacmyces

(2) E ichia
3) macterium

4) R@izobium

. Answer (2)



as humulin. They prepared two DNA sequences byrsevteanscription of their m-
and linked them separately with the modified plasofiEscherichia coli.
198. Cornea transplant in humans is almost n@yected. This is because

Eli Lilly was the first American Company to laungknetically engineered insulin 'ctaI’
RNA

(1) It is a non-living layer @0
(2) Its cells are least penetrable by bacteria

(3) It has no blood supply @

(4) It is composed of enucleated cells Q

Sol. Answer (3) @
Cornea can be easily transplanted because it hb®ad supply & ore, does not
involve immune response.

199. Which of the following pairs of organs ind&s only the @cnne glands?

(1) Adrenal and Ovary %
(2) Parathyroid and Adrenal
(3) Pancreas and Parathyroid @

(4) Thymus and Testes 0

Sol. Answer (2)
Testes, Ovaries and Pancreas have both exo rine functions; but
Parathyroid and Adrenals have only endocri ti
200. What is antisense technology? @
(1) RNA polymerase producing DNA @
(2) A cell displaying a foreign antigen on#hesis of antigens
(3) Production of somaclonal varian s@suew&b
(4) When a piece of RNA that is c@smentary iquErCe is used to stop expression of

a specific gene @

Sol. Answer (4)
Antisense technology is thedranslational contfgdrotein synthesis which involves use
of RNA which is complem to m-RNA, inhibitinge expression of genes.
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